Total Marks:12

Class:9th

Time:15min

Subject:Physics(Objective)
Choose the best answer.Cutting overwriting and use of inkremover is not allowed

T Oneliteris equal to .........cccevuvereennne milliliter

A.10° B.10’
2 All freely falling object have same
acceleration pointed out by

a.Galileo b.Pascal
c.Newton d.Kalvin
3 A body has translatory motion ifit moves
along
a.straight line b.circle

c.line with out rotation ~ d.curved path

4 Coefficient of friction [ between the tyre
and wetroad is
a.0.2 b. 0.6
c.0.8 d. 1

5 Value of gravitational acceleration at
1000km above the surface of earth is:
a.3.7ms b.7.3ms

¢.37.3ms " d.9.8ms”

6 A force which is inversely propostional to
the square of the distanceBetween the
centers of bodies is:

a.Frictional force_(b.Gentrifugal force

c.Centripetal force’d. Gravitational force

7 The kinetic efietgy of body of mass 2kg is

25]. Tts speed will be:

a.5ms b.12.5ms '

C. 251‘1’13_I d. SOIT[TIS_I

8 Ifthe velocity of a body becomes two times
greater, then kinetic energy will be:

a. Remains the same b. Becomes double
c.Four times becomes d. Become Half

The fourth state of matter is called:
a.Solid b.Liquid
c. Gas d. Plasma

Unit of rate ofthermal energy is:
a. Kelvin b. Joul per second
c. Joule d. Second per joul

Land breeze blows from:
a. sea to land during night
b.sea to land during day

c. Land to sea during night
d. Land to sea during day

..... is good radiator of heat:
a. A shining silvered surface
b. A dull black surface

c. A white surface

d. A green coloured surface
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